Solution (#520) Fix A. The distance from r(A) to the line s(x) is minimal when
(

r(A) —s(p)) - (0,2,1) = 0.
Similarly, for a fixed p, the distance from s(u) to the line r(A) is minimal when

(x(A) —s(p) - (2,3,2) =0.
For the shortest distance between the lines, these two equations are simultaneously met. So we have

0 = (—14+2X\24+3X—2u,2\—u)-(0,2,1) =4+ 8\ —by;
0 = (—14+2X\24+3x—2u,2\—u)-(2,3,2) =4+ 17\ — 8.
Solving
8\ — by = —4; 17A — 8u = —4,
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We then have r(2)=2015338); s(=)=5(143112)
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which has length
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